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This study was designed to find efficiency comparison on hypothesis testing
between classical test and sequential test which used by Classical Inference and
Bayesian Inference The research objectives were 1) to study comparison between
classical test and Bayesian test 2) to study comparison between classical test and
Sequential test 3) to study comparison between Bayesian test and Bayesian Sequential
test and 4) to study comparison between Sequential test and Bayesian Sequential test

Normal distribution was used to simulate the case study H,:p,=10 and
H :y, =11,12 and 15 with a constant variance o° =4 and 16. Three levels of
significance were used as 0.01, 0.05 and 0.10 . In case Classical test and Bayesian test,
sample sizes equal 10,20, and 50 were also used. Two types of loss function were used
as Squared error loss function and Weighted absolute error loss function. Prior
Information were Jeffreys, Conjugate p ~ N(S,cz) and Conjugate p ~ N(15,02>. The
simulation was repeated 20,000 times in each situation end. Power of test was used in
comparison criteria in study case 1 when it can control type | error. Average sample
number was used in comparison criteria in study case 2,3 and 4

The results of this study were as follows:

1. Classical test can control type | error better, but in case of Bayesian test can
control type | error and power of test was lower .

| 2. Average sample number, was less of all when used in Sequential test.
3. Average sample number, mostly, was less Bayesian test when used in
Bayesian Sequential test. Exclude in case of p, =11 when variance 16 and sample sizes
10 for all significance. Bayesian Sequential test, mostly, prior was used in case of
Conjugate p ~ N(S,Gz) k was 1 on weighted absolute error average sample nuymber
was the least.

4. Average sample number, was less of all when used in Sequential test.





